BEENXHEE(STHIEEFEE) FE15HRK D1
(B M)
BERE RIFEFE(A) | R2ZEEFH®B) | ZE(A)—(B) w *
TEEFRAURA 9FI 80,000,000 78,000,000 2,000,000
FAEAEEIAIE 11,000,000 11,000,000 0
= 1;33 FAEBEE-BRE) 36,000,000 36,000,000 0
i T D ZEF EFIRA 100,000 50,000 50,000
i;;; CESCELYNGD 127,100,000 125,050,000 2,050,000
2 AEEXH 80,000,000 81,340,000 A 1,340,000
%t + EHEXH 12,000,000 13,630,000 A 1,630,000
Iy | g |BREXH 17,000,000 15,130,000 1,870,000
b3 T DX ILF BF L H 2,200,000 2,340,000 A 140,000
(EXFEXHE] 111,200,000 112,440,000 A 1,240,000
(EXFHELINEE] 15,900,000 12,610,000 3,290,000
0
i MR R E S MBS IRA 12,320,000 A 12,320,000
i Iy | BB HEFLRUA 0 0
w | o
=2 (MEER EmFINAGT] 0 12,320,000 A 12,320,000
= EE & EREG X H 0 20,460,000 A 20,460,000
f; i BHEESEBATEIH 10,200,000 10,200,000 0
] (heE% B FE S HET] 10,200,000 30,660,000 A 20,460,000
X (MR EHEELINT 2] A 10,200,000 A 18,340,000 8,140,000
z BAZILA 0 8,140,000 A 8,140,000
o | 4R
o | A 0
g (2D EFENUIAGT] 0 8,140,000 A 8,140,000
B 0
'; i EYEEASEASTEXN 2,000,000 1,000,000 1,000,000
fz (ZDMDFEEIZ HET] 2,000,000 1,000,000 1,000,000
% ([Z0Hh0EEE SN 48] A 2,000,000 7,140,000 A 9,140,000
FliaEXH 0
LB ERES 3,700,000 1,410,000 2,290,000

0




